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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(i)
(ii1)
(iv)
(v)

(vi)
(vit)

(viii)

(ix)

61/4/3

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into five Sections — A, B, C, D and E.

In Section A - Questions no. 1 to 21 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B - Questions no. 22 to 27 are Short Answer (SA) type questions,
carrying 3 marks each. Answers to these questions should not exceed 60 to 80
words.

In Section C - Questions no. 28 to 30 are Long Answer (LA) type questions
carrying 8 marks each. Answers to these questions should not exceed 300 to
350 words.

In Section D - Questions no. 31 to 33 are Source-based questions with three
sub-questions of 4 marks each.

In Section E — Question no. 34 is Map-based question carrying 5 marks that
includes the identification and location of significant test items. Attach the
map with the answer book.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Identify the character of the Mahabharata for the following information :
o Was a nishad
J Considered Dronacharya as his Guru
J Gave his right thumb to Dronacharya as Guru dakshina
Options :
(a)  Ghatotkatch (b)  Eklavya
(c) Nakul (d) Sahdeva

Who among the following is believed to have spoken these words ?
“Be lamps unto yourselves as all of you must work out your own
liberation.”

(a) Mahavira (b) Buddha
(c) Sigala (d) Ananda

3 P.T.O.
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3. Which of the following statements is correct about Prabhavati Gupta ?
(a) She was a Gupta Queen.
(b) She had no access to resources.
(c) She donated land to elites.
(d)  She was the daughter of Chandragupta II.

4., Which of the following statements are true regarding Buddha ?
(1) Buddha was the son of a chief of Sakya clan.
(ii)  He had a sheltered upbringing within the Sangha.
(iii) He was informed of the harsh realities of life.
(iv) He was deeply anguished when he saw an old man and a sick man.

Choose the correct option :

(a) (1) and (ii) (b)  (ii) and (iii)
(c) (1) and (iv) (d) (i) and (iv)
5. Banawali, an ancient site of Harappan culture, is located in which of the
following modern Indian state ?
(a)  Punjab (b) Haryana
(c) Himachal Pradesh (d) Uttarakhand
6. Who among the following was the first Director General of Archaeological
Survey of India (ASI) ?
(a) R.E.M. Wheeler (b)  John Marshall
(c) Daya Ram Sahni (d)  Alexander Cunningham
7. Who among the following was able to decipher Ashoka’s Brahmi script ?
(a) Harisena (b) Megasthenes
(c) James Princep (d) Kautilya

8. Fill in the blank :

The Mughal administrative system had an apex, a military cum
bureaucratic apparatus which looked after civil and
military affairs.

(a) Iqta system (b) Mansabdari system
(c) Amara-nayaka system (d) Ijaredari system
9. Who among the following travellers never returned to Europe and settled
in India ?
(a)  Bernier (b)  Manucci
(c) Duarte Barbosa (d)  Roberto Nobili

61/4/3 5 P.T.O.
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10.

11.

12.

61/4/3

Rearrange the following in chronological order and select the correct
option from the following :

(1) The Saluva military commanders were replaced by the Tuluvas.
(ii)  Rulers of Orissa were subdued by Krishnadeva Raya.

(iii) The Battle of Talikota routed out the Vijayanagara Empire.

(iv) Harihara and Bukka founded the Vijayanagara Empire.

Choose the correct option :
(a) (), (), (iib), (ii) (o)  Gv), (D, (1), (iii)
(c)  (iv), (iid), (i1), (1) (d)  Gv), (i), (1), (11)

In which of the following places is the Brihadishvara temple situated ?
(a) Bijapur (b)  Belur

(c) Vijayanagara (d) Thanjavur

Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and select the correct option :

Assertion (A) : Our major source to know agrarian history of 16t® and

17th centuries is the chronicle known as Ain-i-Akbari.

Reason (R):  This text meticulously recorded the arrangements made
by the state to ensure cultivation, collect revenue and

relations between state and zamindars.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

7 P.T.O.
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13.

14.

15.

61/4/3

Who among the following was the Emperor at Delhi during the 1857

Revolt ?

(a)  Birjis Qadr

(b)  Aurangzeb

(¢)  Bahadur Shah
(d)  Farukh Siyar

Match the following events :

List 1
(Event)

1. Fifth Report

11. Deccan Riot
Commission

111. Damin-i-koh

1v. American Civil War

Choose the correct option :

(a) 1-—-2,ii—1,ii-3,iv—-4
(b)y i1i-3,ii—2,iii—-1,iv—-4
(c) i—-1,ii—4,iii—2,iv—-3

d i1i-4,ii-3,iii—1,iv—-2

List IT
(Correlation)

Zamindari system
Santhal’s land

Cotton boom

Ryotwari system

Who among the following was considered as a political mentor by

Gandhiji ?

(a) Dadabhai Naoroji

(b)  Lala Lajpat Rai

(c) Gopal Krishna Gokhale
(d)  Bal Gangadhar Tilak

P.T.O.
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16.

17.

18.

19.

61/4/3

Arrange the following in sequence :

(1) Gandhiji’s call for Non-Cooperation

(ii))  Gandhiji’s Kheda Satyagraha

(iii) Gandhiji’s Champaran Satyagraha

(iv)  Gandhiji’s speech in Banaras Hindu University
Choose the correct option :

(a) (1), (iv), (1), (iil)

(b)  (id), 3), (iv), (i1)

(c) (1), (1), (iii), (iv)

(d)  @Gv), Gid), (ii), @)

Which one of the following languages was emphasized by Gandhiji for the
status of national language ?

(a)  Hindi

(b)  Hindustani
(c) Sanskrit
(d)  English

Who among the following assumed leadership of the Revolt of 1857 from
Arrah, Bihar ?

(a) Kunwar Singh
(b)  Nana Saheb
(¢)  Tatya Tope

(d)  Shah Mal

Who among the following gave the ‘Objectives Resolution’ in the
Constituent Assembly ?

(a)  Jawahar Lal Nehru
(b)  Mahatma Gandhi
(c) B.R. Ambedkar

(d)  R.V.Dhulekar

11 P.T.O.
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20. Match List I with List IT :

List 1 List I1
(Saints) (Traditions)
1. Andal 1. Sufi
1i. Basavanna 2. Lingayat
1il. Karaikkal 3. Alvar
Ammaiyar
iv. Baba Farid 4. Nayanar
Options :
(a) 1-1,ii—-3,iii—2,iv—-4 (by 1-2,ii—4,iii—-1,iv-3
(c) 1—-3,ii—2,iii—4,iv-1 d i1-4,ii—-1,iii-3,iv—2

21. Which of the following statements regarding Francois Bernier are
correct ?

(1) He was a doctor, philosopher and historian.

(ii)  He came to the Mughal Empire in search of opportunities.
(iii) He became physician to Prince Dara Shikoh.

(iv)  Bernier’s works were published in Spain.

Choose the correct option :

(a) (1), (i) and (iii) (b) (1), (iii) and (iv)
(¢) (@), (iii) and (iv) (d) (1), (i) and (iv)
SECTION B
(Short Answer Type Questions) 6x3=18

22. How have historians explained the social differences among Harappans ?
Explain. 3

23. (a) Why is the mid-first millennium BCE often considered as the
turning point in world history ? Explain. 3

OR

(b) Why was Buddha considered as one of the most influential teachers
of his time ? Explain. 3

61/4/3 13 P.T.O.
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25.

26.

27.

28.

29.

30.
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24.

25.

26.

27.

28.

29.

30.

61/4/3

Describe the role of Rama Raya to bring about the ruin of Vijayanagara.

(a)

(b)

Explain the views of Ibn Battuta on Indian cities.
OR

Explain how Bernier found the crown ownership of land as being

harmful for both the state and its people in the Mughal Empire.

Explain the provisions of Subsidiary Alliance System.

Explain the role of Gandhiji as a social reformer.

(a)

(b)

(a)

(b)

(a)

(b)

SECTION C

(Long Answer Type Questions) 3x8=24

“According to Brahmanical theory, only Kshatriyas could be kings
in the early states, however several other ruling lineages probably
had different origins.” Explain the statement with examples from

ancient India.
OR

“Given the diversity of the sub-continent, there have been
populations in early states, whose social practices were not

influenced by the Brahmanical ideas.” Explain the statement.

Explain the philosophy and teachings of Guru Nanak Dev.
OR

Explain the beliefs and practices of Sufism.

Analyse the causes that led to the Bombay Deccan Riots.
OR

“The Fifth Report became the basis of intense parliamentary
debates on the nature of East India Company’s rule in India.”

Examine the statement.

15 P.T.O.
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SECTION D
(Source-Based Questions) 3x4=12

31. Read the given source carefully and answer the questions that follow :
What the king’s officials did
Here is an excerpt from the account of Megasthenes :

Of the great officers of state, some ... superintend the rivers,
measure the land, as is done in Egypt, and inspect the sluices by which
water is let out from the main canals into their branches, so that every
one may have an equal supply of it. The same persons have charge also of
the huntsmen, and are entrusted with the powers of rewarding or
punishing them according to their deserts. They collect the taxes, and
superintend the occupations connected with land; as those of the
woodcutters, the carpenters, the blacksmiths, and the miners.

(31.1) Who was Megasthenes ?
(31.2) How were the roles of supervisory officers important ?

(31.3) How is Megasthenes’ description helpful in understanding the
administrative role of the king ? 2

32. Read the given source carefully and answer the questions that follow :

Peasants on the move

This was a feature of agrarian society which struck a keen
observer like Babur, the first Mughal emperor, forcefully enough
for him to write about it in the Babur Nama, his memoirs:

In Hindustan hamlets and villages, towns indeed, are
depopulated and set up in a moment! If the people of a large
town, one inhabited for years even, flee from it, they do it in such
a way that not a sign or trace of them remains in a day and a
half. On the other hand, if they fix their eyes on a place to settle,
they need not dig water courses because their crops are all rain-
grown, and as the population of Hindustan is unlimited it
swarms in. They make a tank or a well; they need not build
houses or set up walls . . . khas-grass abounds, wood is unlimited,
huts are made, and straightaway there is a village or a town!

(32.1) What is Babur Nama ?
(32.2) How did the peasants meet the needs of water ?
(32.3) Explain the distinctive features of agrarian society. 2
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33.

61/4/3

fqu T dra i eaEgde fer it = fou MU e o I G

“Tu fadk T FR T A T
13 fege, 1946 1 3194 gfrg W9 § et 48& o I8 Hal o

W W& ¥ ISR d g’ Ffag™ g9Te o & 8 S 98 98 hH
ol & | g9 30 HEM SWfEh! g o fmior ot gfsean w1 e o @
2 et Use-fmiarett 9w wEn wiayd ™ e S 3aq @R 9rel, 6
Tt A oft TS T qeh I hl HE W T 30 8 | I8 Th HgH
o2 T S 3T Gfag™ W Il 8 | 39 A1 € I TR 39 W
SHIfd shi AR Il & S 150 | 98 T 310 €9 W Eg oA | 431 39
Gige™ |91 1 fo=m 3 8 S Taal o fu 3aq an 9o e
URE % WY Td GEEd Wl § 9 oft | 39 dfaum @vm 3 foRa!
HfThell T FTHAT Tohal o7 SR Tohd T8 TSI 9 THIH 3T STRhRT 38
Ted H ST o9 @ 9 | S8 o A GR T S0 G A M @ 8 |
e 39 91 i IIG W@ Toh 9 39 T 1 Givehal 5 3R o1& A
Gfay austi & e ush o ae T4l foan I @1 on at 38 | &
ol HeH | |1 1 off 3R T w9y ot off T U i Al s’ o
A9 | SAET ST 8 | S8 TSI3Tl 9 T ATehdl hl ThIE o STESG
AT Sk I Wl 3R q9 I @l | g g S qeh Ieaid STUHAT
M U el A o= o | gt fovama g T g0 oft 3t 3 W & 98t
TSI §U & 3R TR BAN] 3%k 39 H& H Bl AT hal 3N, o8 @di §
B I SR H, AN d3%h a9 deh S il ™ deh 8H 19T M U
& T |

(33.1) 3TT=8¢ H +g® Sii 4 foh® shifd 1 oo TohaT 8 2
(33.2) &® g ruliehl Giau % foh Ton bl ISR foa T 2
(33.3) e wHId < wm’ A off ?
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33.

61/4/3

Read the given source carefully and answer the questions that follow :

“We are not going just to copy”

This is what Jawaharlal Nehru said in his famous speech of
13 December, 1946 :

My mind goes back to the various Constituent Assemblies that
have gone before and of what took place at the making of the
great American nation when the fathers of that nation met and
fashioned out a Constitution which has stood the test of so many
years, more than a century and a half, and of the great nation
which has resulted, which has been built up on the basis of that
Constitution. My mind goes back to that mighty revolution which
took place also over 150 years ago and to that Constituent
Assembly that met in that gracious and lovely city of Paris which
has fought so many battles for freedom, to the difficulties that
the Constituent Assembly had and to how the King and other
authorities came in its way, and still it continued. The House will
remember that when these difficulties came and even the room
for a meeting was denied to the then Constituent Assembly, they
betook themselves to an open tennis court and met there and
took the oath, which is called the Oath of the Tennis Court, that
they continued meeting in spite of Kings, in spite of the others,
and did not disperse till they had finished the task they had
undertaken. Well, I trust that it is in the solemn spirit that we
too are meeting here and that we, too, whether we meet in this
chamber or other chambers, or in the fields or in the
market-place, will go on meeting and continue our work till we
have finished it.

(33.1) Which was the revolution discussed by Nehru in the passage ?

(33.2) Which qualities of the American Constitution are highlighted by
Nehru ?

(33.3) What was the ‘Oath of the Tennis Court’ ?

19 P.T.O.
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WUE®
(wmafers-snenfa ae ) 5

34. (34.1) WWA o [T MU TSHITqh W-AFREE (56 23 W) #, ke =t
3T Togl @ sifeRa Shifste ot 3eh 9 fofem - Sx1=3
(i) IS — U Toehiad g1 JUEed
(i) WNgd —Th WEwEqUl slg €A
(i) (F) I — 37T & A &
HAUAT
(i) (@) IR —FWCE T o FHST 6 &g
(34.2) R o FHt T WWT-AM W g T 6 A 3R B @ Afeha foman
TR, S 1857 H AU o AT & § TEfd 8 | IRl YgElHY 3R

39k Fal 9 3ok Hehe Gt 18 Tareti w fafau | 2
Fig:  [HEIIET I Sacl gleaTiaa gieniael & 1070 . &, 34 & €9 WE
(34.1) Trea™ | fopeft foepfia geomm queee &1 9 fofEu | 1
(34.2) T YRA o fortt Teh sig T 1 9 faifgu | 1
(34.3) () TosoR AT 1 TorEr @1 9 foifaT | 1
YT

(34.3) (@) T AHTSY ohl Tohell Teh TG TR &1 AW fIfau | 1
(34.4) 1857 § 37N o e forgl a1 TAMT 1 TMIcI@ HIVT | 2
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SECTION E
(Map-Based Question) 5

34. (34.1) On the given political outline map of India (on page 23), locate and
label the following with appropriate symbols : 3x1=3

(1) Kalibangan — a mature Harrapan site
(ii)  Bharhut — an important Buddhist site
(iii) (a) Ajmer - a territory under Akbar

OR
(i) (b)  Vijayanagara — Capital of Krishanadeva Raya’s empire

(34.2) On the same political outline map of India’ two places related to
British control in 1857 are marked as A and B. Identify them and

write their names on the lines drawn near them. 2

Note: The following questions are for the Visually Impaired Candidates, only in
lieu of Q. No. 34 :

(34.1) Name any mature Harappan site in Rajasthan. 1

(34.2) Mention any one Buddhist site in Southern India. 1

(34.3) (a) Name the capital of Vijayanagara Empire. 1
OR

(34.3) (b) Name any one capital city of the Mughal Empire. 1

(34.4) Mention any two places which were under the control of the
British in 1857. 2
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I F. 34 & foig For question no. 34

it WA T WT-AHRE (TSI aeR)
Outline Map of India (Political)

61/4/3 23





